Wixey 

ELECTRONIC DIGITAL READOUT                 

MODEL WR700

INSTRUCTIONS
1- Join the two readout track halves together as shown
[image: image1.jpg]USE WEDGE TO ALIGN THE
READOUT TRACKS AND FULLY
TIGHTEN THE 4 SCREWS

WEDGE

M6 X 8mm LONG
QTY=4

READOUT TRACK
QTY=2



[image: image2.jpg]CAREFULLY FILE THE EDGES
WHERE THE READOUT TRACK HALVES
MEET FOR A SMOOTH TRANSITION

CLEAN THE
READOUT TRACK WITH
ALCOHOL OR CLEANSER
TO REMOVE ANY OIL OR DIRT




2- Apply the sensor strips to the track as shown
[image: image3.jpg]WHEN ATTACHING THE SECOND SENSOR STRIP, USE THE
ALIGNMENT GAUGE TO SET THE PROPER SPACING
BETWEEN THE TWO STRIPS





[image: image4.jpg]MAKE SURE THE
READOUT SLIDES EASILY
BUT KEEPS CLOSE
CONTACT WITH THE
SENSOR STRIP

=4y





3- Carefully slide the readout onto the readout track
[image: image5.jpg]IF NEEDED, TIGHTEN OR LOOSEN THE 6
SCREWS ON THE BACK OF THE
READOUT TO ADJUST THE FIT

TEST THE READOUT TO SEE IF IT
FUNCTIONS PROPERLY



[image: image6.jpg]LEFT SIDE MOUNT N
— %
S
BLADE CONTACTS/ NEWER POWERMATIC FENCES ATTACH
FENCE SURFACE TO THE LOCK HANDLE FLANGES
inEis
MARK READOUT TRACK
STARTING POINT\ e ———
T
N \
FENCE RAIL \
| READOUTTRACK ____UP+

3

FOR BIESEMEYER FENCES AND
BIESEMEYER "CLONES" USE THE
MAGNET BRACKET AND ATTACH AS
SHOWN





4- Select the readout and readout track mounting location
A.  For measuring a full 60” to the right of the blade align the readout track as shown
[image: image7.jpg]RIGHT SIDE MOUNT

= MARK READOUT
TRACK STARTING
POSITION

( =

MAGNET BRACKET = ﬂ—
FOR BIESEMEYER AND <

CLONES





[image: image8.jpg]LEFT SIDE MOUNT|

FOR DEWALT,UNIFENCE,VEGA AND

/

OTHERS, THE READOUT WILL ATTACH
AT THE OUTER EDGE OF THE FENCE
BODY.

WAIT UNTIL STEP 8 TO ATTACH THE

FENCE BODY IS UNIVERSAL MAGNET BRACKET

POSITIONED AT
THE LEFT END OF
THE FENCE RAIL

NOTE THE
READOUT
TRACK

STARTING
POSITION

FENCE BODY





B.  For shorter fences or measuring full left of blade and maximum to the right of blade, align the readout track as shown:
[image: image9.jpg]RIGHT SIDE MOUNT

MARK THE READOUT
TRACK STARTING
POSITION





[image: image10.jpg]BOTTOM SURFACE OF FENCE RAIL

REMOVE RECTANGULAR FENCE
RAILS INCLUDING THE UNIFENCE
FROM YOUR SAW. TURN IT UPSIDE /

DOWN ON A WORK SURFACE /
FRONT SURFACE

OF FENCE RAIL
LOOSELY ATTACH
THE 4 MOUNTING
BRACKETS USING =
THE 4- M6 X 25MM

LONG THREAD
FORMING

SCREWS USING THE LARGE DRILL BIT

SUPPLIED, DRILL 4 HOLES 1-1/2"
FROM THE FRONT SURFACE OF

THE FENCE RAIL
1-1/2"

IMPORTANT NOTE:

THE 1-1/2" DIMENSIONS IS CORRECT FOR
BEISEMEYER, UNIFENCE, AND MANY
"CLONES". SOME OTHERS MAY NEED TO
BE A LITTLE CLOSER TO THE FRONT




Note: If the readout track is too long it can be cut to length using a hack saw.
5- Attach the track mounting brackets
BEFORE YOU DRILL:  Unless you have an actual Biesemeyer T-square fence or a Delta Unifence, it is strongly advised that you that you clamp the readout track assembly with the readout  in place onto your saw fence to determine the exact position to drill the holes for the mounting brackets.
[image: image11.jpg]MOST ROUND RAIL FENCES DO NOT NEED
TO BE REMOVED FROM YOUR SAW

/L%

®l<
\

ROUND RAIL FENCES WILL USE THE EXISTING RAIL MOUNTING BOLTS
TO ATTACH THE MOUNTING BRACKETS




[image: image12.jpg]|
M6 NUT AND

WASHER

12" ——>|

N/ g
/7 |

<

/

ADJUST THE READOUT TRACK 1/2"
AWAY FROM THE FRONT SURFACE
OF THE FENCE RAIL AND FULLY
TIGHTEN ALL HARDWARE

IMPORTANT NOTE:

THE 1/2" DIMENSION IS CORRECT FOR
BEISEMEYER, UNIFENCE AND MANY
"CLONES". SOME OTHERS MAY NEED TO
BE A LITTLE FURTHER FROM THE FRONT




6- Attach the track to the fence rail
[image: image13.jpg]NOTE THAT THE PATTERN ON
THE SENSOR STRIP MUST BE
ORIENTED AS SHOWN HERE

PEEL OFF PAPER BACKING
TO EXPOSE ADHESIVE

LINE UP THE RIGHT EDGE OF FIRST SENSOR STRIP
WHERE THE TWO READOUT TRACK HALVES MEET
AND PRESS FIRMLY TOO PERMANTLY ATTACH




7- Using the universal magnet bracket
· If the standard magnet bracket does not fit your fence body you will need to bend and fabricate one using the universal bracket supplied.

· Use the small drill and one or two of the small self tapping screws to attach the bracket.
For DEWALT and similar fences
[image: image14.jpg]«AFTER THE BRACKET IS

ATTACHED DRAW A

VERTICAL BEND LINE
lﬁ(

L,

« ALIGN THE UNIVERSAL BRACKET M
WITH THE MAGNET ON THE READOUT a

¢USING THE SMALL DRILL AND 2 THREAD FORMING
SCREWS, ATTACH THE BRACKET



[image: image15.jpg]*REMOVE THE BRACKET AND BEND

AT THE BEND LINE IN A VICE
\

¢ CUT OFF THE UNUSED =

SECTION OF THE BRACKET





For UNIFENCE and similar fences                                For VEGA and similar fences
[image: image16.jpg]UNIVERSAL MOUNTING BRACKET
OPTIONS




[image: image17.jpg]«,ﬂﬂ





8- Readout operation
[image: image18.jpg]ON/OFF and Calibration

.
MMIN ELECTRONIC
Wi K€Y ocitaL reabout

ABSI/INC

0.000

ON/OFF

L]

HOLD{TO CAL

# Push momentarily to turn OFF or ON

#® Hold for 3-5 seconds to calibrate and set
to 0.000 in ABS mode




[image: image19.jpg]IN/MM

~Absolute measuring mode

Toggles between
inches and millimeters
Inch
° "
MM/IN ELECTRONIC mode
“'llley DIGITAL READOUT
ABS N
ABSI/INC
it ]
[ 2.375 =

ON/OFF

HOLD TO CAL

Millimeter





[image: image20.jpg]ABSI/INC

.
MMIN ELECTRONIC
u'llleg DIGITAL READOUT
Absolute @
" ABS N
me:-(xisurlng ABSI/INC
mode 3
L) | 2.375 =
S ON/OFF
oggles
bewteen L]
Absolute and || HOLD TO CAL
Incremental
fiodes MMIN ° ELECTRONIC
u'llleg DIGITAL READOUT
Incremental ABS/INC e =
mode re-sets [ f
0 0.000 & ao.aoa

HOLD TO CAL

MM/IN

Wixey

ELECTRONIC
DIGITAL READOUT

Toggle back to [—

ABSI/INC

ABS mode and
the dimension
is remembered

i

7 ON/OFF

ABS N

Z.375 =

HOLD TO CAL





9- Trouble shooting
[image: image21.jpg]Magnet bracket (1)
; M4 thread forming screw (2)

Large drill (1) ’
Universal magnet bracket (1)
Readout (1) p /

Sy

[ S
Small drill (1 %
M6 hex nut (4) — #/
@ o
M6 washer (4) —, | 0

/ screw (4)
Q @MG X 8mm long hex head bolt (4)

Readout track (2) —

Sensor strip (2)

\;
£
B
Alignment gauge (1) ——

M6 tapered head bolt (4) %

Wedge (1) J





For questions, comments, and application examples go to:    www.wixey.com
NOTE:  EXTRA BATTERY INCLUDED





6 month battery life. The factory installed battery may be dead when you first receive your readout. Replace battery if the readout does not function properly





Problem�
Possible Cause�
Solution�
�
Flashing Digits�
Low Voltage�
Replace Battery�
�
No Display�
Low Voltage�
Replace Battery�
�
No Display�
Bad Contact�
Clean Battery�
�
Erratic or Frozen Display�
Internal Error�
Remove Battery Wait 1 Minute and Replace�
�






�





�








�





�





�





�





�








�





�





�





�














�





�





�








�





�








�





�





�





�








�











PAGE  
1

